2 3 4 5 | 6 | 7 | 8

39.50

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° N
oF
W/ SR 6.5
W/0 SR ?3.0~89.5
oF
\ NOTES:
4500 / 1. PART NUMBER CODE:
20.60 3 DS1047-02 — 09 X X X
LSR Support
/ S: W/ SR
- N .
P \ X: W/0 SR
Packing type
1: Mix packing
2: Separation packing
H a Cover Material
DSl047.02 | | M: Metal(Znic alloy)
! [ 1 Positions
H 09: 9pin
il & K
T ] il i
‘ 15.00 ‘
24.99
31.60
8
[l .%-:.’ﬁ‘.‘!‘ g
) - ) 5
CL®d "]
BOM LIST
ITEM | PART NAME Q'ty | NOTES
1 | SCREWM25*8 | 1 | M2.5
2 | METAL HOOD—1| 1 | Znic alloy
3 | SCREW M2.5%6 | 2 | M2.5
4 | WASHER 1
5 | SR 1
6 | STRAIN RELIEF | 1
= B TVeprmrTy GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @—&F | TITLE D—SUB 9pin Metal Hoods
8 | LATCH-1 1 X.  +0.60 X. 45 UNITS mm Large Angled Cable Outlet
EENE (215 M N — X +0.38 X 13 SHEET SIZE A4 | SERIES [DS1047-02 SERIES
- e oToy XX £0.25 XX 2
SR A=
DRAWING TYPE [COSTOMER e T;]SJ EE ? ﬁ IKE A EJ
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. C—DS1047—02—09XXX conmFLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


1 ) 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° o
oF
W/ SR 6.5
TYPEA W/O SR | 83.0~29.5
W/ SR $9.0
TYPEB W/O SR [#8.5~812.5
NOTES:
& 1. PART NUMBER CODE:
4509 DS1047-02 — 15 X X X X
23.30 ] ‘ TSR Support
j S: W/ SR
X: W/0 SR
! Type Support
A: Type A
B: Type B
3 7-02 T Packing type
¢ 1: Mix packing
I 2: Separation packing
1 Cover Material
17 M: Metal(Znic alloy)
& G, Position_s
2000 15: 15pin
SEE2
40.00
TYPE A BOM LIST TYPE B BOM LIST
ITEM [ PART NAME Qty [ NOTES ITEM | PART NAME Q'ty | NOTES
1| SCREW 3 M3 1| SCREW 3 | M3
2 | METAL HOOD—1| 1 | znic alloy 2 | METALHOOD—1] 1 | Znic alloy
i WASHER ; i \éVRASHER 1 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @7{} TITLE D—SUB 15pin Metal Hoods
CABLE REDUCTION PLATE
5 | SR 1 5 | STRAIN RELIEF [ 1 X. £0.60 X. =5 UNITS mm Large Angled Cable Outlet
6 | STRAIN RELIEF | 1 6 | BOLT 2 | UNC 4—40 X +0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-02 SERIES
7 | BOLT 2 [Unc4-40 7 | LATCH—1 1 XX +0.25 XX +2
8 | LATCH—1 1 8 | LATCH-2 1 =] ¥“ 8 /\ ey
8 | ATCH-1 ! T DRAWING TYPE |COSTOMER = T’];J EE‘ ? ﬁ IKE 79 EJ
10 | METAL HOOD-2| 1 | Znic alloy SCALE 1:1 |SHE|__—|' I 1 OF 1
DRAWING NO. C—DS1047—02—15XXXX conmFLY CONNFLY ELECTRONIC CO. LTD
1 3 4 | 5 6 I 7 ! 8



Administrator
新建图章

Administrator
新建图章


1 2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° o
oF
W/ SR #8
TYPEA W/O SR | #3.0~28.5
W/ SR $9.0
TYPEB W/O SR [#8.5~012.5
NOTES:
1. PART NUMBER CODE:
DS1047-02 — 25 X X X X
TSR Support
& S: W/ SR
X: W/0 SR
Type Support
A: Type A
B: Type B
| Packing type
1: Mix packing
2: Separation packing
Cover Material
M: Metal(Znic alloy)
Positions
3 1 25: 25pin
1
i il
28.00
47.04
SBHZ0)
TYPE A BOM LIST TYPE B BOM LIST
ITEM | PART NAME Qty NOTES ITEM [ PART NAME Q'ty NOTES
1 | SCREW 3 [ M3 1 | SCREW 3 M3
2 | METAL HOOD-1| 1 [ znic alloy 2 | METAL HOOD-1[ 1 | Znic alloy
i WASHER ; i \éVRASHER 1 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @7{} TITLE D—SUB 25pin Metal Hoods
CABLE REDUCTION PLATE
5 [SR 1 5 [ STRAIN RELIEF [ 1 X. +0.60 X. 5 ONITS mm Large Angled Cable Outlet
6 | STRAIN RELIEF | 1 6 | BOLT 2 | UNC 4—40 X +0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-02 SERIES
7 | BOLT 2 [ UNC 4-40 7 | LATCH—1 1 XX +0.25 XX +2
8 | LATCH-1 1 8 | LATCH-2 1 1= ¥‘ q /\ e
9 [ LATCH-2 i 9 | METAL HOOD—2| 1__| Znic alloy DRAWING TYPE |COSTOMER )—E‘ T/]/] EE‘ ? ﬁ IKE /s a
10 | METAL HOOD-2| 1 | Znic alloy SCALE 1:1 |SHE|__—|' | 1 OF 1
DRAWING NO. C—DS1047—02—25XXXX connFLY CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


1 2 3 4 5 l 6 l 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11° o
oF
W/ SR 99
TPEA /0 SR [93.0~912.0
W/ SR ¢11.5
Rz = W/O SR [812.0~815.0 NOTES:

1. PART NUMBER CODE:
DS1047-02 — 37 X X X X

TSR Support
S: W/ SR
X: W/0 SR

Type Support

A: Type A

B: Type B

Packing type

1: Mix packing

2: Separation packing
Cover Material

M: Metal(Znic alloy)

Positions
37: 37pin

48.00
I
—

T
44.00
63.50
70.20

18.20

TYPE A BOM LIST TYPE B BOM LIST
ITEM]| PART NAME | Qty | NOTES ITEM] PARTNAME | Qty | NOTES
1| SCREW 4| M3 7| SCREW A
2| METAL HOOD—1]| 1| Znic alloy 2 | METAL HOOD—1|_1_| Znic alloy
3| WASHER i 3| WASHER 7
4 _|CABLE REDUCTION PLATE| 2 4 | SR L GENERAL TOLERANCE| ANGLE TOLERANCE —&} | TITLE a
i 1 T PROJECTION | @ —&] [TTLE]  D—sUB 37pin Metal Hoods
& T STRAN RELEF T3 & TBoLT 2 TONG 420 X, +0.60 X, 45 UNITS mm Large Angled Cable Outlet
7 [ BoLT 2 |UNC 4-40 7 | LATCH-1 1 X +0.38 X 3 SHEET SIZE A4 SERIES | DS1047-02 SERIES
8 | LATCH—1 i 8 | LATCH-2 7 XX +0.25 XX 12
9 | LATCH-2 1 9 | METAL HOOD-2[ 1 Znic alloy . . . = ¥ /\ ——
o TVETAL 005 =2] T T2mie aiiey DRAWING TYPE |COSTOMER = BT A R A &=
SCALE 1:1 |SHEET [ 1 OF 1
DRAWING NO. C—DS1047—02—-37XXXX connFLY CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 ! 7 ! 8



Administrator
新建图章

Administrator
新建图章


